RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL (Authorizing Submission and Negotiation of an Indian Self-Determination Act Master Contract and Fiscal Year 2000 Annual Funding Agreement with the UNITED STATES GEOLOGICAL SURVEY)

RESOLUTION NO. 99-345

1	WHEREAS,	the Tohono O'odham Nation desires to contract from the United States			
2		Geological Survey the performance of a comprehensive assessment of the			
3		hydrologic conditions, both present and future, within the area which is			
4		contiguous to the International Boundary between the Nation's lands and			
5		the Republic of Mexico and which is approximately sixty-one (61) miles			
6		long (east to west) and twenty five (25) miles north fro the full 61-mile			
7		length from the International Boundary; and			
8	WHEREAS,	this activity shall include, but not be limited to, monitoring surface water			
9		stream flow in the Vamori, San Simon and other washes selected by the			
10		Nation.			
11	NOW, THEREFORE, BE IT RESOLVED that:				
12		1. The Chairman of the Nation is authorized to submit the attached			
13		Master Contract and Fiscal Year 2000 Annual Funding Agreement to			
14		the United States Geological Survey and to negotiate maximum			
15		funding and acceptance by the United States Geological Survey of the			
16		terms and conditions contained therein.			
17	The foregoin	g Resolution was passed by the Tohono O'odham Council on the <u>11TH.</u> day			
18	of <u>IUNE, 1999</u> at a meeting at which a quorum was present with a vote of <u>2,165.5</u> FOR;				
19	-0- AGAINS	F; -O- NOT VOTING; and [O4] ABSENT, pursuant to the powers vested in			
20	the Council	by Section 1(f) of Article VI of the Constitution of the Tohono O'Odham			
21	Nation. adop	ted by the Tohono O'Odham Nation on January 18, 1986; and approved by			
22	the Acting D	eputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986,			
23	pursuant to S	Section 16 of the Act of June 18, 1934 (48 Stat. 984).			
24	r				

24 25

	RESOLUTION NO. <u>99-345</u> (Authorizing Submission and Negotiation of an Indian Self-Determina Contract and Fiscal Year 2000 Annual Funding Agreement with the UNIT GEOLOGICAL SURVEY) Page 2 of 3								
1	1 TOHONO O'ODHAM LEGISI	ATIVE COUNCIL							
2	2								
3	3 Nem Kin								
4	Dennis Ramon, Legislative Chairman								
5	5	<u> </u>							
6		,199_9							
7 8									
0 9									
10	h la h la h la h la h								
11		Julianna Saraficio, Acting Legislative Secretary							
12									
13	12 13 1/th day of 19_9.								
14	14 V								
15	15 Said Resolution was submitted for approval to the office of the Chair 16 O'Odham Nation on the $14^{7/6}$ day of $$, 19 <u>99</u>	man of the Tohono							
16		y of <u>func</u> , 19 <u>77</u> at <u>3.72</u> o'clock, of Section 5 of Article VII of the Constitution and							
17									
18		ettner approve or							
19 20		n 48 hours of submittal.							
20		TIVE COUNCIL							
22									
23									
24	24 Dennis Ramon, Legislative Cha	irman							
25	25								
26		80							
27	26 27 [X] APPROVED on the <u>le</u> day of <u>fine</u>	, 19_72							
28									
29									
30		\cap							
31 32									
32 33		rman							
33 34									
	35								

RESOLUTION NO. 99-345 (Authorizing Submission and Negotiation of an Indian Self-Determination Act Master Contract and Fiscal Year 2000 Annual Funding Agreement with the UNITED STATES **GEOLOGICAL SURVEY**) Page 3 of 3 Returned to the Legislative Secretary on the _____ day of _, 19_99, at 11:05 o'clock, A.M. Julianna Saraficio, Acting Legislative Secretary

ACTION: AUTHORIZING SUBMISSION AND NEGOTIATION OF AN INDIAN SELF-DETERMINATION ACT MASTER CONTRACT AND FISCAL YEAR 2000 ANNUAL FUNDING AGREEMENT WITH THE UNITED STATES GEOLOGICAL SURVEY

MOVED: COUNCILWOMAN MARY ANN ANTONE

SECOND: COUNCILWOMAN FERN SALCIDO

DATE: JUNE 11, 1999

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 171.8	1. MARY ANN ANTONE (Darlene Andrew)	85.9	х			
	2. RITA MARTINEZ (Nicholas Jose)	85.9	x			
SELLS 372.7	1. DENNIS E. JOSE	186.35	х			х
	2. EVELYN JUAN ()	186.35	х			
SCHUK TOAK	1. MARY FLORES	66.7	x			
133.4	2. AMBROSE ENCINAS	66.7	x			x
SAN XAVIER	1. TONY BURRELL	82.95	х			
165.9	2. DENNIS RAMON	82.95	X			
BABOQUIVARI	1. FRANCES MIGUEL	143.25	х			
286.5	2. FRANCES G. ANTONE (Edward N. Kisto)	143.25	x			
GU ACHI 209.6	1. CAMILLUS LOPEZ (Louis Johnson)	104.8	х			
203.0	2. ALEX J. RAMON	104.8	х			х
PISINEMO 156.8	1. BARBARA SALVICIO (Alex Antone)	78.4	X			
	2. JOHNSON JOSE	78.4	х			
SAN LUCY 128.1	1. ALBERT MANUEL, JR. ()	64.05	X			
	2. GLORIA RAMIREZ	64.05	х			
GU VO 160.0	1. FERN SALCIDO	80.0	x			
100.0	2. GLORIA MONTANA (Phillip Antone)	80.0	x			
HICKIWAN	1. ALEX JOSE (Shirley Santos)	79.05	х			
158.1	2. LLOYD FRANCISCO (Susan Sam)	79.05	x			
CHUKUT KUK	1. KENNETH WILLIAMS	111.3	x			
222.6	2. DAVID GARCIA (Mary Audrey Juan)	111.3	x			x
T	OTAL	2,165.5	2,165.5	-0-	-0-	[04]

**PASSED VOTES